O0OOO0o0ooo

o o o o o

ooooo

o o o o o

[ o o o

0000000 OO0OOO0ooooo

m 0000

OILES Oilless Slide Shifters

oooooooooibn

oooooom

210222

|Stc800000O0bmsTrOOOO0OO00000O0ObODODODOO0O0O

TH

W H1 4-D1
- Wi
] //B: H
ki i
-
W2

B1

DDDDDSDDDSTC/STFDDDDDD e10000D000D05MSIOOODNDL.0MS 0oom

ooo STCO oooo oooo
STFO TH TW TL W, W, L. D, H, H. Hs B: B. oooo oooo
oooo oo N N
STC20 12,580 30 45 56 30 [12.75| 40 M8 9 9.5 6 |M5x 10 |M8x 8 10800 3430
STC28 16,020 50 60 78 44 |16 50 M8 85| 175 8 |M6x 10 [M10x 10 17700 5880
STF28 16,870 50 90 78 72 |31 60 M10 10 17.5 8 |M6x 16 |M10x 10 17700 5880
STF38 26,030 65 110 | 100 90 (36 80 M10 15 25 10 |M8x 18 [M12x 12 31400 10800
STF48 33,030 82 140 | 120 | 116 |46 95 M12 20 30 11 | M8x 22 [M12x 15 44100 14700
eJO00IO0O0O0OOODOODODODLDODOO GRO 00 GRED p
100000000000 D2000mma 00 AW * 5 N
2000mmMO 000000000 DOCOOOO = l( —
B oo flew TN T
oQ gl Hi
e 000DDO0DNDMOONODmMONNOD AW A F’X“L“*” A
00000000000 0000
00 0000GROOOOOO 00 Om
ooao GRO ooag oo ooo GRO ooag oo
Ox 00 oo IR0 (R L 2 ON ® ooad Ox 00 oo IR0 (R L 2 ON ® ooag
GR20- 300 7,440 |19.5| 22 300| 25 6 50 |M6x 30| GR38- 400 17,160 | 38 | 42 400 42.5 4 105 | M8x 45
GR20- 500 11,580 |19.5| 22 500| 25 10 50 | M6x 30| GR38- 600 27,890 38 | 42 600|37.5 6 105 | M8x 45
GR20-1000 23,020 |19.5| 22 | 1000| 25 20 50 | M6x 30| GR38- 900 36,470 | 38 | 42 900/30 9 105 | M8x 45
GR20-1500 34,460 |19.5/ 22 | 1500| 25 30 50 | M6x 30| GR38-1200 48,190 | 38 | 42 | 1200/22.5, 12 |105|M8x 45
GR20-2000 58,630 |19.5| 22 | 2000| 25 40 50 | M6x 30| GR38-1500 59,490 | 38 | 42 | 1500/15 15 | 105 M8x 45
GR28- 300 9,440 |28 32 300| 30 4 80 | M6x 40| GR38-2000 83,660 | 38 | 42 | 2000|55 19 | 105 M8x 45
GR28- 400 11,580 |28 32 400/ 40 5 80 | M6x 40| GR48- 600 32,890 48 | 52 600|37.5 6 105 M10x 60
GR28- 600 17,880 |28 32 600| 20 8 80 | M6x 40| GR48- 900 44,330 | 48 | 52 900/30 9 105 M10x 60
GR28-1000 27,170 |28 32 | 1000| 20 13 80 | M6x 40| GR48-1200 54,480 | 48 | 52 | 1200{22.5| 12 | 105 |M10x 60|
GR28-1500 40,760 |28 32 | 1500| 30 19 80 | M6x 40| GR48-1500 68,350 | 48 | 52 | 1500|15 15 | 105 M10x 60
GR28-2000 80,080 |28 32 | 2000| 40 25 80 | M6x 40| GR48-2000 @ 114,540 | 48 | 52 | 2000/55 19 105 M10x 60
STE280 000000 MSTFE280 000 000000000000000
H1 Lo,
’- 4-D1

m 000000

O0000SEDJOOSTE/STFED OO OO0

e1000000O00OO0SMsOOOOODOIL.0m/s

noo STED 0000 [oooo
STFED | TH | TW | TL | Wi | W | L L. L, D. | HH | H. | H, |DODDO |ODOCO
oooo oo N N
STE20 12,300 | 30 | 45 | 56 | 30 |12.75 | 40 | 55 | — | M8 9 95 | 6 7540 | 2400
STE28 15440 | 50 | 60 | 78 | 44 |16 50 | 66 | 23 | M8 85 | 175 | 8 | 12350 | 4110
STFE28 | 16,300 | 50 | 90 | 78 | 72 |31 60 | 6.6 | 23 | M10 | 10 | 175 | 8 | 12350 | 4110
mJO00000GREODOOOODN pooooooooooGrROODOOOOOOOD 000m
ooo GRED ooo OO ooQ GRED 000 0o
Ox 00 oo |RWs|RHI L 1A 0N | Plooo Ox 00 oo RWsRHI L 1A TGN P loon
GRE20- 300 | 6,150 |19.5] 22 | 300] 50 | 3 | 100 M6x 30| GRE28- 400 | 10,300 | 28 | 32 | 400| 40 | 4 |160 | M6x 40
GRE20- 500 | 9,150 |19.5] 22 | 500/ 50 | 5 | 100 M6x 30| GRE28- 600 | 14,870 | 28 | 32 | 600| 60 | 6 |160 | M6x 40
GRE20-1000 | 18,160 |19.5] 22 |1000] 50 | 10 | 100 M6x 30| GRE28-1000 | 25,170 | 28 | 32 |1000] 20 | 10 |160 | M6x 40
GRE20-1500 | 27,890 |19.5| 22 |1500| 50 | 15 | 100 M6x 30| GRE28-1500 | 34,890 | 28 | 32 |1500| 30 | 15 |160 | M6x 40
GRE20-2000 | 47,910 |19.5] 22 |2000| 50 | 20 | 100 M6x 30| GRE28-2000 | 65,780 | 28 | 32 |2000| 40 | 20 |160 | M6x 40
GRE28- 300 | 8,580 |28 | 32 | 300] 70 | 3 | 160 M6x 40

v
o2 Gy fnos



